Versailles Treaty as the First Cause of WWII / Notes / Parker
Conditions at the End of World War I
FIGHTING WWI   1914--1918
Major powers in ALLIES = Britain, France, Russia, U.S. {entered in 1917}.

Major powers in CENTRAL POWERS = Germany, Austria-Hungary, Ottoman Empire.

AMERICA WAS NEUTRAL FOR MOST OF THE WAR
The Geographic Location of the Central Powers Impacted Their Fighting Ability
Since America was neutral, we were selling nonwar supplies to both sides.  The problem was that more supplies were getting to the Allies than to the Central Powers.  Since the Central Powers were located in the middle of the European continent, it was much harder for American ships to get there.  Allied nations used mines and submarines to stop American ships from getting to the Central Powers.
Exports to Allies       

Exports to Germany  

1914


$825 million

$169 million

1916


$3.2 BILLION
$1.1 BILLION



Loans to Allies
Loans to Germany
1914-1917

$2.3 BILLION
$27 million

Russian Revolution Causes Russia to Leave War & the Allied Side in March of 1917 
The Treaty of Brest-Litovsk (March 3, 1918) gave Russia peace.  The U.S. was now afraid that the Allies might lose WWI without Russian help.  Americans were afraid that if the Allies lost the war, America would never get paid back for the loans she gave the Allies.
April 6, 1917 U.S. Declared War Against Germany!!
American troops were first sent to France where they were trained in trench warfare tactics.  U.S. troops did not actually fight until June of 1918 & the war ended in Nov. of 1918 (they fought for only 6 months)!!
**The Fourteen Points
After the U.S. entered the war, American President, Woodrow Wilson, did not want America to experience the high number of casualties that the Allies had.  He created the 14 Points to be 14 fair ideas to base a peace treaty on.

Early 1918 (January) - - The Fourteen Points were offered to the Central Powers as the basis for a truce and a peace treaty.  **Kaiser Wilhelm II refused.  He still thought the Germans could win the war.

November 1918 - - 1.7 million fresh and well armed American troops joined the British & French and massed on the German border, ready to attack and destroy Germany!  **More importantly, Ameica was the biggest industrial power in the world.  We could make more military equipment and bullets faster and in larger quantities than any other nation in the world!  **Kaiser Wilhelm II now accepted the 14 Pts. & a truce, to avoid the destruction of his country! 
Key Problem at the End of WW I
Britain = bankrupt

France  = 20 % of her land was physically destroyed by trench warfare and she was bankrupt

Germany = by far the most powerful nation militarily and economically, no damage to country
**Problem = The Allies won World War I, but they were in very bad shape.  The Central Powers lost (Germany) World War I, but Germany was still the strongest nation in Europe militarily and economically.
**Result = Britain & France used the Versailles Treaty to destroy Germany since they did not get a chance to do it on the battlefield!!  **The U.S. refused to sign the Versailles Treaty because we thought it was unfair to Germany and would cause another war.  America signed separate treaties with each of the Central Powers.
1918 – Allies were about ready to attack Germany and destroy her.  In order to avoid destruction, the Germans (new gov’t encouraged by 2nd in command, General Ludendorf—led by Prince Max of Baden) asked for a truce based on the Fourteen Points.  These were President Wilson’s ideas for a fair and lasting peace.  

Problem # 1--  Allies did not get a chance to physically defeat  Germany during WWI.  Allied armies were stopped immediately outside the border of Germany.  As a result, German industry was not seriously damaged and the German economy was still fully intact.  On the other hand, Britain was bankrupt from financing WWI and France was physically destroyed.   Both Br. & Fr. were in extremely bad shape.

** Basically, Britain and France had won the war, but Germany remained the strongest nation on the continent, both economically and militarily.  Furthermore, France and Britain were particularly vulnerable to German attack again in the near future - - - - unless something changed to balance the scales.

Problem # 2 --  Throughout the war, the Germans had been propagandized to believe that they were winning.  One of the most important elements of any war is * WILL - - the will to fight.  In war, the government must keep people’s morale up in order to allow them the best chance to win.   None of the losing powers were allowed to be present at the peace negotiations (Paris Peace Talks).  In 1919, when the Germans were finally presented with the conditions of the Versailles Peace Treaty, They were shocked at how harsh it was!!!  

They thought the peace was going to be fair since it was supposed to be based on the Fourteen Points!!  When the Germans were presented with the Versailles Treaty, they could not believe it!!  They refused to accept it!

** The Allies threatened to attack again unless the Germans signed the treaty!

** Psychologically, the German people were not willing to accept defeat!  They saw little damage around them.  They had been told they were winning the war – all the way to the end.  The context of German history from 1871 to 1914 was that of tremendous success.  They had gone from 39 separate and weak German states in 1870 to a unified major power that was one of the most powerful nations in Europe by 1914.  Now, the Versailles Treaty would make them a weak and powerless nation again.

Problem # 3  -- Britain and France tried to defeat Germany through the Versailles Treaty because they couldn’t do it on the battlefield!!  They made the treat so harsh that it destroyed the economic and military power of Germany.  France, especially, was worried that Germany would recover quickly and return to invade again.  (Historical example – Franco-Prussian War of 1870 & WWI) 

THE VERSAILLES PEACE TREATY
Pres. Wilson wanted a fair peace settlement.  The Allies agreed to Wilson's plan for peace, the Fourteen Points.  **Germany agreed to a truce because they felt the 14 Pts. were fair.

At the peace talks the Allies did not follow the 14 Pts.!!  They were mad that there was no damage in Germany.  *** WHEN THE ALLIES WERE READY TO ATTACK GERMANY & MAKE THEM PAY, GERMANY AGREED TO PEACE TALKS & THERE WAS HARDLY ANY DAMAGE DONE TO GERMANY!!  AT THE END OF THE WAR, GERMANY WAS STILL THE MOST POWERFUL COUNTRY WITH THE BEST ECONOMY!!  
The French & British were afraid Germany would remain the most powerful nation and attack them again.  Since Britain & France were so weak from the war, they feared they would be conquered by Germany this time.
Since Germany was not defeated by warfare, the Allies wanted to destroy Germany by making the peace treaty very harsh!!  **Germany was very angry because they thought the treaty was going to be based on the Fourteen Points and it was not!!
KEY CLAUSES OF THE VERSAILLES TREATY THAT ANGERED GERMANY
· War Guilt Clause (Article 231 – says Germany alone caused WWI)
· Blank Check or Reparations Clause -  made Germany sign a treaty saying that she would pay whatever amount the Allies came up with.  The amount was not determined until later.  Germany had to pay $124 billion German Reichsmarks to Britain & France to repair damages.
· Allied occupation of the Rhineland for 15 years to make sure German factories stopped manufacturing weapons
· Limits on the German military (army limited to 100,000 troops)

· Forced Germany to accept the Weimar Republic (democratic government)

· League of Nations
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